2.025329%e-28

-@- \verb|HLT_Z0-sig0.110000-alpha-1.99|
-@- \verb|HLT_Z0r-sig0.110000-alpha0.00|
-@- \verb|HLT_Z0r-sig0.110000-alpha2.00|

1.028403e-28 1

3.147591e-30 1

\verb|rho-th5|

-9.654508e-29 1

-1.962378e-28

~1.00 075 ~050 ~0.25
\verb|log10(A/A0)_ref|



2.077836e-28

-@- \verb|HLT_Z0+sig0.130000-alpha-1.99|
-@- \verb|HLT_Z0-sig0.130000-alpha0.00|
-@- \verb|HLT_Z0+sig0.130000-alpha2.00|
1.054885e-28 -
1)
=
S
£ 3.193410e-30 1
)
)
=2
-9.910170e-29 -
-2.013968e-28 T T T T
-1.2 -0.8 -0.4

\verb|log10(A/A0)_ref|

0.0




2.604265e-28

-@- \verb|HLT_Z0-sig0.500000-alpha
-@- \verb|HLT_Z0-sig0.500000-alphal
-@- \verb|HLT_Z0-sig0.500000-alpha;

1.311636e-28 -

1,99
.00
.00

1.900635e-30 1

\verb|rho-th5|

-1.273623e-28 1

-2.566252e-28

-1.0
\verb|log10(A/A0)_ref|

0.0




